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er of Questions in this Question Booklet: 200

INSTRUCTIONS TO CANDIDATES

Immediately after getting the booklet read instructions carefully,
mentioned on the front and back page of the question booklet and do
not open the seal given on the question booklet, unless asked by the
invigilator.

Write your Roll No., Answer-Sheet No., in the specified places given
above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given instructions
otherwise Answer-Sheet will not be evaluated.

After opening the seal, ensure that the Question Booklet contains
total no. of pages as mentioned above and printing of all the
200 questions is proper. If any discrepancy is found, inform the
invigilator within 15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for each
question choose the correct/most appropriate options out of four options
given, as answer and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.

Darken the circle of correct answer properly otherwise answers will not
be evaluated. The candidate will be fully responsible for it.

There are 200 objective type questions in this Question Booklet.
1 mark is allotted for each correct answer and % mark will be
deducted for each wrong answer.
Do not write anything anywhere in the Question Booklet and the Answer-
Sheet except making entries in the specified places otherwise OMR
sheet will not be evaluated.
After completion of the examination, only OMR Answer Sheet and cover
page of Question Booklet is to be handed over to the invigilator. Carbon
copy of the Answer Sheet and Question Booklet may be taken away by
the examinee.
This Question Booklet consists of Parts namely :-
1. General Knowledge (150 Marks)
(i) Mathematics, Science, Indian History, Geography, Indian
Economy, Indian Constitution and General Knowledge of State.

(i) Current Affairs.
2. Other (50 Marks)

Essential Commodity Act 1955, Consumer Protection Act 2019, @
National Food Security Act 2013 and Chhattisgarh Food and Nutrition

Security Act 2012 related Knowledge, decentralized food procurement

— rice procurement on support price in Chhattisgarh and distribution ®
under public distribution system and Chhattisgarh Food Security @
and Sovereign PDS, PDS driven different plans in Chhattisgarh and °
General Knowledge of Computer.

In case of any ambiguity in English version the Hindi version shall be
considered authentic. L
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PART —1 /911 -1
GENERAL KNOWLEDGE / amHT AT1

(i)

If the unit digit in the product of

459 x 46 x 28 * x 484 is 2, the digit
in place of x* is

(A) 9

(B) 7
(C) 3
(D) None of the above

Find the smallest whole number
which is exactly divisible by

1 .1 1 1
1—,2—,3— —.
342 and 45
(A) 322  (B) 154
(C) 252 (D) None of the above

9 m 60 cm long aluminium wire and
other is 5 m 12 cm long copper

Find the maximum length t

equally cut from each WII’ ch a
way that total length 5 wire is
exactly divisible by |t

(A) 40 meter

(C) 64cm

There are two electrical wires, one |2 0

60 meter

0.1t and §th of a bamboo are in
8

mud and water respectively and the rest
of the length 2.75 m is above water.

(i)

1. A 459 x 46 x 28 * x 484 % UG
3HTS o TAM W 3k 2 8, Al * o TIH T
3 AT

(A) 9
© 3
(D) wﬁaaﬁ@aﬁéqﬁ
2. I U Bl qul ged 9 U Y

11 280 siw 41 3 ooh v fem

3 2 5
ﬁ (B) 154

IC 252 (D) i § & F1E T

3l fosreft o dR w9 H1 60 I T
T {H R o1 T R 5 HT 1.2 Sl et iel ol
| I8 HAlerhed TS 1 dri <Al {1 sl
o 38 @IS o TR T W TS AR

T IS oh 3HY W {331 511 66 |
(A) 40 T (B) 46 Tt
(C) 64 3t (D) 60 Hiex

4. Frfta@F SR F 013 wmwa 24t
8

T SRHT: hTerg STR T o ol goTT & e
T g3 2.75 Hiel It & S &, a1 9"

What is the total length of bamboo ? T2 il ol TS Bl

(A) 30 meter (B)27.5 meter (A) 30dX (B) 27.5 X

(C) 10 meter (D) None of the above (C) 10X (D) U H ¥ i3 el
TF o foTu T
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3420 7 y
19  0.01
The number at the place of ? is
() (B) 83
9 5
18
(C) = (D) None of these

6. 5yearsago, Ashu’s mother was three
times as old as Ashu. After 5 years,
she will be twice as old as Ashu. How
old is Ashu today ?

(A) 35years (B) 10 years
(C) 20 years (D) 15 years

Direction (7 — 9) : The following table gives

% of marks obtained by 7 different student
in six subjects. The numbers in brackets g&%

02223/GE — GJ/RCE - M

3420 7
19 0.01

‘2" &Y e I g gt

7

(B) 63
9 5

(D) TH & g T

(A)
(C)

6. ia Tet Teet 31T <At A hl 37 Y I 30 T
T T[T off | Oife T ST SHehl 3H Y] 3 3

#hi g IR 2l 39 3T /1 Bl 7
(A (B) 10=d
@ 0 s (D) 15ad

*
@(7—9) : e few T arforent ® wra fermfern
(six) fars=it & wfara 31k f63 € | Fissas |

. : . feu 3 37 39 fow o wEaH FF 2 |

the maximum marks in each subject.

Subject Subject

war) | s | Chemy | Pris | Googranny dence ) | Vs | Chemisy | Pysis | Goemaphy | Mt | cionce
Students 0 0 Students “o
Reshma 90 50 90 A 80 Reshma 90 50 90 60 70 80
Monisha 100 80 80 80 70 Monisha 100 80 80 40 80 70
Akshaya 90 60 70 90 70 Akshaya 90 60 70 70 90 70
Vignesh 80 65 80 60 60 Vignesh 80 65 80 80 60 60
Akhilesh 80 65 85 95 50 90 Akhilesh 80 65 85 95 50 90
Prakash 70 75 65 85 40 60 Prakash 70 75 65 85 40 60
Jagadesh 65 35 50 77 80 80 Jagadesh 65 35 50 77 80 80

7. What was the aggregate marks

7. 1 0 afl B8 (six) o= ® ure e

obtained by Akshaya in all the six 37 S

subjects ?

(A) 409 (B) 449 (A) 409 (B) 449

(C) 429 (D) 439 (C) 429 (D) 439
TF whE o foTu T
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8. What is the overall percentage of

02223/GE — GJ/RCE - M

8. SWIQY &1 Fdd Hfcerd foheHT 2 7

Jagadesh ?
(A) 52.5 (B) 55 (A) 52.5 (B) 55
(C) 60 (D) 63 (C) 60 (D) 63
9. The number of students who 9. 37 foaenfelat &t e oy weft fomai o

obtained 60% and above marks in all 60% 3T 3T 3T 37 Yo FhU &
the subjects is
(A) 1 (B) 3 (A) 1 (B) 3
(C) 4 (D) 2 C) 4 (D) 2

10. A man bought an article and sold it at 10. T Afad 7 T aeg Wl 3R 38 5% 14
Ithe gain of 5%. If he had bought at 5% & 3 fom | 4R S 5% 9 geu # wla
ess and sold it for X 1 less, he would
have made a profit of 10%. Cost price BIT ST FRH S 2T, 1 34 10% o
of the article is forem 38 g 1 T G BT
(A) 100 (A©1 0
(B) %200 200
(C) T 150 ‘\ T 150
(D) None of the above (D) SYU | ¥ IS Tl

11. A fruit seller makes a profit of 20% b 0 19, T % sa ST 319 Tk Ueh hied O s
selling oranges at a certain pricg? T 20% AT FHATAT & | IS I8 Teeh Tk hl
he charges X 1.2 higher per or 3 1.2 3Afeh hgd oTaT 7, a1 3H 40% i
he would have gain 40%. The origifal oY 8T | Ik 1 98 g foad 399 39
price at which he sold an s‘- is T =T R
(A) %5 \ (A) 5
(B) ¥6 @ (B) 6
©) 372 ,& ©) 272
(D) None of the above (D) 3IWIad § U whis Tl

12. The compound interest on X 16,000 12. 16,000 W 9 TEH =T 20% Tfd a9 =i T
at 20% per annum for 9 months, T FIhg g SIS BT, STaIfeh AT g &
compounded quarterly is I UM <l ST
(A) 2,450 (A) 2,450
(B) ¥ 2,500 (B) ¥ 2,500
(C) 2,522 (C) 2,522
(D) None of the above (D) U H | IS T

TF H1E & o T
Space for Rough Work
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13.

14.

15.

The value of the expression

2-3)= 2=
....... (2 _ %) s equal to

907
3
1001

© -3

(D) None of the above

(B)

Read the two statements given below
and find which of the following is/are

correct ?

II. 173 is a prime number. 6
Only | is true Q
Only Il is true S O

Both | and Il are

Neither | nor L4

A number wheN ided by the sum
of 555 and 445 gives two times their
difference as quotient and 30 as
remainder. The number is

[. 7710312401 is divisible by 11*

13

15.
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e

997
....... 2——— | R HH E»;llll
( 999)

(A)

W|=

997

(B) 3

(C

N\, = fe2 21 el sl afed 37 warsd T
HH-91 forer g2l 2 7

l. 7710312401, 11 & fowsm gran 2 |
Il 173 T 19T §E&A1 ¢ |

(A) Fad | T B

(B) aat Il TEt

(C) I3l adt @

(D) AT I TR IARAE Il T 2

Ig T fS9 555 31T 445 & I ¥ 9

S TR 3k ST T FAT IITHRA (quotient)
3R 30 Y UTed BT 2 | 98 ST Bhft

(A) 220030 (A) 220030

(B) 22030 (B) 22030

(C) 1230 (C) 1230

(D) None of the above (D) SUU | § IS el
TF whE o foTu T
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Sita deposited X 5,000 at 10% simple
interest for 2 years. How much more
money will Sita have in her account at
the end of 2 years, if it is compounded
semi-annually ?

(A) 40

(B) ¥50.2

(C) *775

(D) None of the above

The ratio of the number of sides of
two regular polygons is 1 : 2. If each
interior angle of the first polygon is
120°, then the measure of each interior
angle of second polygon is

(A) 90°

(B) 120°

(C) 150°

(D) None of the above

16.

17.

O
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T 10% T =T ht &0 8 T 5,000,
298 & T3 51 fohd | 39 @ H
¥ gy fera e rferes s B e
g Tshafg s ar ?

(A) %40
(B) %50.2
(C) X775
(D) Iued H & s T

31 FEYSI 1 Al sl FEAT AT AT
1:27% | 3 U8 TG 1 T T
0T 1202, TN TE TZHS I T ST
0T

120°
150°

(D) 3Wied § € IS &l

18. The length of the common chord of tw 3 gl it 3vafss Sfar i awE, N
circles of radii 15 cm and 20 cm w w5, 25 G 31 g WAl IR =g 15 a4t
centres are 25 cm apart, is 3 20 eft &, Bh
(A) 15cm B) 20 cm \Q (A) 15Tt (B) 205
(C) 24 cm None\ above (C) 24Tt (D) SUUad H 8 HIS Tl

19. A dishonest deale @é s to sell 19. T SHT forsharl 3ueh! %] i T Jod W
his goods at C% but uses a ST Shl FehTeTd ShLdT & =] Ueh fohall Sl SR
weight of 960 g a Kg weight. 960 T % S TIAT 2. 3T AT yfwTd
Find his gain percent. - ’

41y 1
(A) %67 (A) 45%
(B) 319 (B) 31y
3" 3
C) 4% (C) 4%
(D) None of the above (D) 3IWad § ¥ IS &l
TF o foTu T
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20. An employer reduces the number of 20. U Faigar 3e =@ A g w7 : 5
his employees in the ratio 7 : 5 and a; T Fldl shidl & 3 37! gered)
increases their wages in the ratio =
10 : 9. His bill of total wages increases 10: géﬁaﬂq'dﬁ%'d' & 138 PR
or decreases in the ratio o1 fodt SIg+! AT T 1 3T BT
(A) Decreases 13: 9 (A) =M 13:9
(B) Decreases 14: 9 (B) WM 14:9
(C) Increases 9: 14 (C) sem9: 14
(D) Increases 9: 13 (D) sgm9:13

21. The value of a machine depreciates at 21. foreft w=flA o Taqead il & 10% Jfd a9
th(T rate ;f 10% perarr:num.hlf its p"risent 2 | 9 3Tt 9dHH gea1 3 1,62,000 7,
value is¥ 1,62,000, then what will be its ‘

62,000, 2 3o
worth after/before 2 years ? el e T
(A) ¥ 3,00,000, % 1,00,000 (A ,000, ¥ 1,00,000
(B) ¥1,31,220,% 2,00,000 ,31,220, ¥ 2,00,000
(C) %1,50,000, X 6,00,000 1,50,000, X 6,00,000
(D) None of the above ) U § § hIg Tl

22. A man goes from Mysore to Bangalor (Dg T T B W TR 40 foreft /arer R o &
at a uniform speed of 40 km/h g
comes back to Mysore at a unj %% ST & 7 fl?g60 fereft /e & s
speed of 60 km/h. His averag 2 | 3HehT I ATAT R I T B
for the whole journey is .

(A) 48 km/h (A) 48 Pwﬂ/s!a
(B) 55 km/h \ (B) 55 et /e
(C) 58 km/h @ (C) 58 fortft /=t
(D) None of th@ (D) Wi 4 € IS &l

23. Average age of 6 sons of a family is 23. foreft 9f@r & 6 sredl it a1y 8 o
8 years. Average age of son together P B siga
with their parents is 22 years. If the g 1 3% HI-fa % A
father is older than the mother by I 2299 7 | I TUar-ATa & 8 AN =g €,
8 years, then the age of mother (in - ~
years) is l el shi @1y (a1t §) el
(A) 44 (B) 52 (A) 44 (B) 52
(C) 60 (D) 68 (C) 60 (D) 68

TF whE o foTu T
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24. Atpresent, Abiris 1.5 times of Pooja’s 24, TSR I A IS 1 AR T 1.5 7T
age. Eight years hence, the respective B | 313 TTA 1S AT 7R YT Y 3T
ratio between Abir and Pooja’s ages R S
will be 25 : 18. What is Pooja’s present el AT 25 18 g |gaT6ﬁ
age ? T S |
(A) 28 years (A) 28T
(B) 36 years (B) 36dad
(C) 42 years (C) 4294
(D) 50 years (D) 50 9%

25. The value of \/17+ /152+ logg 1 HH
17451+ 152+ /288 1S ﬁO
(A) 11 . g-)’ 11

N\

(B) 9 Q (B) 9
(C) 7 $ C) 7
(D) 5 6 (D) 5

26. Two stations AandB at m apart 26. 3 T A 3R B UH g § Hiel @ H
on a straight line. On X;arts from 110 frft e | 3 WY A Y TR
A at 7 am and jtr rds B at w%gﬁ(wBsﬁmgoﬁsﬁ
20 km/h spee other train starts gﬁqaaﬁrrﬁ[aaa—cﬁ% | go o1
from B at 8 am aheg travels towards A YA B U gelE 8 w9l zg\doh{ésﬂjbﬁﬁw
at a speed of 25 km/h. At what time o5 freft wfa Her & Y & =odt & | 2t
will they meet ? o T3 Tge 7
(A) 9 am (A) G 9l
(B) 10 am (B) & 10 &SI
(C) 11 am (C) g 11
(D) None of the above (D) SUU | § IS el

TF o foTu T
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27. One third of a certain journey is
covered at the rate of 25 km/h, one
fourth at the rate of 30 km/h and the
rest at 50 km/h. The average speed
for the whole journey is

(A) 37% km/hour

(B)
(C) 30 km/hour

(D) None of the above

33% km/hour

02223/GE — GJ/RCE - M

27. Tt 9 o1 U fawts wEar 25 foRHt /Ee
& i |, Tk =g TEar 30 foret /e
Tl @ 31T s g3 fewan 50 Tt /wer
1Tl & ot fofarm ST & | St A o sfred
Tt grft

(A) 37% [EivAera

(B) 33% fopeft /e
(C) 30 Tt /et

(D) @@ﬁqﬁf
G oh! Y[STI3T1 3h1 FEAT T STATA

28. The ratio of the number of sides in 28.
two regular polygons are as 5 : 4 and : 3 3T 0 % S ST 6° R, @
difference between their angles is o £ vt ) @ ’
6°. Then the number of sides in the \. SgYST ent il e &t
polygon are
(A) 12,16 (B) 12,13 0 (A) 12,16 (B) 12,13 _ .
(C) 15,12 (D) Noneoftheab@ (C) 15,12 (D) Swiad & & #1 7
29. The area of a square park is “kph. 29. IR il T &het 25 o TRt 8 | 39
The time taken to complete the 3 foptft ufa =1 it X A TF TR T T
field once at a speed of g’u is ST AT |HI B
(A) 4 h 60 min (B)@ min (A) 4260 fime (B) 6% 40 fire
(C) 5h 40 mi None of these (C) 59240 fe (D) 3™ & FIs &
30. The radius of a circle is 9 cm and 30. forelt g it reamm 9 Tft B o7 34 Ush St
length of one of its chords is 14 cm. FT s 14 Tl R, @ 3G ST FE A
Then, the distance of the chord from = Bt ’
the centre is R\
(A) 4 cm (A) 4 oy
(B) 442 cm (B) 42 @t
(C) 43 cm (C) 43 @t
(D) None of the above (D) 3IWiad § ¥ IS =l
TF whE o foTu T
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31.

32.

33.

34.

35.

Shaving mirrors are
(A) Convex mirror

(B)
(C)
(D)

Concave mirror
Plane mirror
All of the above

The focal length of a lens is 50 cm. Its
power will be

(A) 50 dioptre
(C) 20 dioptre

(B) 2 dioptre
(D) 100 dioptre

Magnetic field in solenoid is

(A) Different in all points in solenoid
(B)
(C)
(D)

Same at all points in solenoid
Zero at all points
Cannot be predicted

Half life of a radioactive subst
depends upon

(A) Amount of radioactiv@nce
(B) Temperature *

(C) Pressure @\

(D) None of tl@

Which pair of solution of salts are acidic
in nature ?

(A
(B
(C
(D

MgSO, and Na,SO,
CuSO, and (NH,),SO,
CH,COONa and NH,CI

)
)
)
) CH,COONH, and NH,CN

02223/GE — GJ/RCE - M

31. e M 1 U0 BT ®

(A) 3T gUur

(B) 3Tadet gUur

(C) T gUur

(D) 3Trerd @t
32. T o8 sl Biehel oIkl 50 cm & | 38eht

Sfera grft

(A) 508X (B) 23T

(C) 20srwx (D) 100 Tfwy
33. RER

A o gt forgatl T STer ot
. ANATITsRT o |+t forg i ot e

34. feAmfaca ward di 319 SGFHA HHT
FAl ©
(A) eArefacs uered &t Amn
(B)

(C) <=

(D) U H ¥ IS T

35.

(A) MgSO, @ Na,SO,

(B) CuSO,Td (NH,),SO,
(C) CH,COONatwd NH,Cl
(D) CH,COONH, & NH,CN

)
)
)
)

T & o foTg T
Space for Rough Work

-11-
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36. The valency shell of element A contains 36. Tcd A % TIASY T H 3 SoiagH @ Sfellh
3 electrons while the valency shell of qed B o TS HITH 6 SARH 7, A T
element B contains 6 electrons, the Bésnwaqﬁaﬁaﬁﬁroﬁao‘rém%lﬁ@g%
probable formula of compound formed
between A and B is
(A) AB (B) A,B, (A) AB, (B) A,B,

(C) AgB, (D) A,B, (C) AgB; (D) A,B,

37. The amount of which of the following 37. FARIUIUHIEH o R0 AHSA H T H &
declines in atmosphere due to Tergeht mmn o firere et @ °
chlorofluorocarbon ?

(A) Carbon dioxide @W
(B) Ozone

(C) Oxygen W@H

(D) All of the above

38. The function of which of the follo ﬁ% 38. = o @ fopm =771 =1 1 e1drea g foRa
organ is done by dialysis ? é Srar g ?

(A) Liver Q (A) I%d (B) &3
(C) Kidney (D @‘% ©) T (D)

39. Who amongst Iowmg 39. &N i Il w1 e = | o foRma
propagated the laws of inheritance of yfequifea fram ® 7
characters ?

(A) Darwin (A) e

(B) Mendel (B) wusd

(C) Lemark (C) wmTh

(D) Hugo de Vries (D) =M |
TF whE o foTu T

Space for Rough Work
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40. Amount of oxygen normally carried by 40. IMIA: 100 ml & T AN 6t HT
100 ml of blood is Bt ®
(A) 40 ml (A) 40 ml
(B) 10 ml (B) 10 mi
(C) 20 ml (C) 20 ml
(D) 50 ml (D) 50 ml
41. Minamata disease is caused due to 41, THAETRT U ST WG o T o R 8
water pollution of ‘Eﬁ"clT%
(A) Arsenic oxide
(B) Methyl isocyanate (B mlﬂﬂamﬁz
(C) Mercuric chloride %
(D) Lead tetrachloride
42. Refractive Index is maximum for whic 0% freq ° 9@ form Amewm & U sTyadTs
of the following medium ? § AR BT 7
(A) Air (A) I
(B) Water (B)
(C) Rock salt @\ (C) @&f st 79
(D) Diamond Q (D) &
43. Water is used as a coolant because 43. S 1 YA Ifdeteh & &9 | BT 2, Fifeh
of its TEHT BT |
(A) Lower density (A) ==
(B) High specific heat (B) 3= fafsme wm
(C) Low specific heat (C) T farfyrse o
(D) Freezing point 0°C (D) fewre forg 0°C
TF H1E & o T

Space for Rough Work
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44,

45.
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Match List — | with List — Il and select 44, gt - | ﬁ;ﬁ[_ [l ﬁgﬁﬁﬁaﬁ{ﬁt{aﬁg
the correct answer using following 6 T @ g2 3 s Hif |
codes.
List -1 List -1l et - | Lrcii |
a. Astronomical 1. 1.6x 1073 J a. @A sEE 1. 1.6x10713J
unit
b. Light year 2. 10°m b. ek oy 2. 10°m
c. Angstrom unit 3. 107"m c. MWLM IHE 3. 1010m
d. Micron 4. 9.46x10"® m d. HisshH 4. 9.46x10"® m
e. One MeV 5. 1.5x 10" m e. Tk MeV 5. 1.5x 10" m
a b c d e q& c d e
A5 4 3 2 A (AQ 4 3 2 1
B 1 2 3 4 5 @ 2 3 4 5
©3 4 1 2 5 0\ Y3 4 1 2 5
(D) 1 3 5 2 4 (D) 1 3 5 2 4

100 Js! heat. The potential diffe

A resistance wire of 4 ohm relea&z%:

45.

4 3 T Teh YiaQess aX 100 Js~! o
Had Al 8, Jialeeh aR & aF1 190 &

between two ends of resistan@ s favyarm 2

(A) 25 volts R 0 (A) 25diee

(B) 10 volts Q\ (B) 104w

(C) 20 volts \Q (C) 204

(D) 5 volts \ (D) 53
46. Electrical resistivity is maximum for 46. 20° C R Haiereh Jgd Sfaieshal F= 5 &

which of the following at 20° C ? foraeht a2 7

(A) Copper (A) FHER

(B) Aluminium (B) TegtHT=M

(C) Tungsten (C) A

(D) Nichrome (D) frem

TF whE o foTu T
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47. The number of co-valent bond found 47. 39 Y Y M It He-HATSTeh 3T BId &
in ethane are
(A) 05 (A) 05
(B) 06 (B) 06
(C) o7 (C) 07
(D) 08 (D) 08
48. Which of the following metal shows 48. ﬁmﬁﬁﬁq_m%ﬁwqﬁa
maximum relative reactivity ? TeiRfa #di 2 ?
(A) Potassium (A)
(B) Iron Q’J‘(‘-’
(C) Copper
(D) Sodium Q (D)
49. Where do the energy-capturing * 49. TR GIATUT T I1-Tg0T JATHAT el
reactions of photosynthe3| 0 Tdie ?
(A) Plasma membrane (A) ATSHT WA |
(B) Cytoplasm (B) HREEIRH A
(C) Stroma (C) wmrH
(D) Thy|akoidg® (D) wrerrhIdE |
50. In the presence of Lactase, lactose 50. THE hl JuTEATd H, Tiaersl 1 UL |
breaks down into molecules of foefrea gar e
(A) Glucose and galactose (A) TN T e §
(B) Gilucose and fructose (B) TIHIS UF FARIS H
(C) Glucose and sucrose (C) TRl U RISt |
(D) Glucose only (D) Had RIS §
TF o foTu T
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51. Blood groups in human were 51. M4 o & GHg ol SATsehi foRaT TR
discovered by
(A) Mendel (A) TUSH F
(B) Francis Nelson (B) HIf=rd Jogd g
(C) S. Miller (C) wa. fier g
(D) Karl Landsteiner (D) Tl AVSET g
52. Consider following statements : 52. T oA W foem Sifs
Roasting is carried out to i fohgT STTaT 2
1. Convert sulphide ore into oxide 1. I i ATFHTES T IiEidd
2. Melt the ore EARCPRIER:|
3. Remove moisture, water of . 3 i, STeT o ST A U el ek ered
hydration and organic matter \0 & T |
4. Reduction of ore by carbon Q 4. T HT HTe GHT TR
5. Remove sulphur and arsenic i 0 5. HeH Ud I (eh oh SR STTFATSE
form of volatile oxide o &9 H fyshem o
Correct statements are Q@ L RERER
(A) 1,3and5 (B) g,@ (A) 1,3w@5 (B) 2,3W4
(C) 3,4and5 (D)@\ d 4 (C) 3,4Td5 (D) 1,215 4
53. The mass of %&t of aspirin is 53. THH % Uk dacie i AET 50 mg © |
50 mg. How many moles of aspirin are T & 5 2acie H THTEH o feoraw Avett
present in 5 tablets of aspirin ? 1 T IUTEA § 7
(Molecular mass of aspirin = 169) (Tt <Y 3TuTfarsk AT = 169)
(A) 2.96x102 (B) 1.48x10~° (A) 2.96x102 (B) 1.48x10~°
(C) 5.0x10° (D) 1.69x1073 (C) 5.0x10° (D) 1.69x107
TF whE o foTu T
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54.

55.

aZn + b HNO, — ¢ Zn(NO,), +
NH,NO, + d H,O

The values of a, b, c and d are

a b c d
(A) 1 8 4 4
B) 2 6 5 2
(C) 4 10 4 3
(D) 1 2 2 5

Among the following which are
mismatched ?

a. Silver — Best conductor of
electricity

b. Sound waves — Shows
polarization

10% ohm
d. TV remote — Microwav
e. Radiation strongly® o@‘ ed by

c. Resistance of human bodﬁ: C.

02223/GE — GJ/RCE

54. aZn+bHNO,; — ¢ Zn(NO,), +
NH,NO, +d H,O

a,b,cl@d®HAAR

a c d
(A) 1 4 4
(B) 2 6 5 2
(C) 4 10 4 3
(D) 1 2 2 5

55, ﬁmi&mgﬁﬁaﬁ%‘?

@Q@Z ~ forega o1 3T 1o
Q\’b. Afaisl = gl el e 2

A IR 1 Ifd0e - 108 319

d. 3 fmre - gewaa

-M

e. IAH(d S TeloTdT ¥ STaniya ferfemor

plants — Blue an ight — <1 UE AT YRS
(A) aandb @ and d (A) awdb (B) buad
(C) cande aande (C) ctde (D) awe
56. Methylated spirit contains 56. Tefiide foufe # war
(A) 40% to 50% methanol (A) 40% ¥ 50% HITA
(B) 5% to 10% methanol (B) 5% & 10% BT
(C) 10% to 15% methanol (C) 10% T 15% HIATA
(D) 20% to 25% methanol (D) 20% ¥ 25% AT
T & o foTg T
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57. Which one of the following is used as 57. T4 9 @ 19 T o1 T AREHIEES 551
antifreeze in automobile engine ? ﬁwﬁm‘iﬁéﬁwﬁ‘sﬁm% ?
(A) Propyl Alcohol A) iU Teehlesd
(B) Ethyl Alcohol ) Tt Teahled
(C) Ethylene Glycol (C) TuefielH Temgehial
(D) Butyl Alcohol (D) e Teahied
58. Which of the following determines the 58. T 1 @ =1 e Tt Stfufshan & 8
occurrence of a chemical reaction ? EAREDIt Tt i
(A) Change in colour (A) T
(B) Evolution of a gas @(Eﬁra—aﬁ?
(C) Change in temperature &) AT | qiErd
(D) All of the above Q (D) 7 aeft
O
59. Bryophyllum is an example of w@% STAherd et B & fergrent 3aTet @ 7
of the following ?
(A) Fission ° 69 NRECES]
(B) Budding @\ (B)
(C) Vegetativ ation (C) w1k yaeiq
(D) Regeneration (D) TSI
60. Who amongst the following is a 60. =ITH % HeM o T § 5= 0 & i fedfiaes
secondary consumer in grassland IuFT © 7
ecosystem ?
(A) Grass-hopper (B) Frog (A) fe=r (B) e
(C) Snake (D) Vulture (C) @i (D) firg
TF whE o foTu T
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61. Match the Sufi Silsilas with their main Tl faataat = 3o @ gai 9 gufad
Saints. N
a. Chishti i. Shekh a. Tafeq faaféen i. TG TER™EH
Silsila Bahawddin SEate
Jakaria
b. Suharawardi  ii. Mohammad b. geuad! fafen i, gEwe T
Silsila Gous
c. Nakshabandi iii. Hamiduddin c. TaRTed! oA i, SHIgEN A
Silsila Nagauri
d. Kadiri Silsila  iv. Shekh d. el fafaen v, @ ITEHe
Ahamad FreEt
Farukhi
a b c¢c d d
(A) i i il v iv
(B) iii ivoii i i v i
(C) i i v i tc i i v i
(D) i i v 0 (D) i i v
62. Who was the founder of Tatvab “m% 62. dcaalieT afieht sl STTRT o aTet ohiF & 7
Magazine ?
(A) Maharshi Devendran Qore (A) RN Je=sTY R
(B) Keshav Chandra § (B) 31 ==
(C) Swami Dayana wati (C) Tl T~ gr&ad!
(D) Ishwar ChapdraWidyasagar (D) ¥R =% fermmamr
63. The Chief tribe of this State who recites 63. FEUSAH UGS M T TH el TG
‘Pandwani Gatha’ is EEEIIRRIE
(A) Parja, Pradhan (A) Y&STT, 99™
(B) Muriya, Mariya (B) Hfwm, ufean
(C) Pardhi, Bhimma (C) umeft, foymm
(D) Dorla, Oranv (D) I,
T & o foTg T
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64.

The tomb of Sant Guru Ghasi Das is
situated in

02223/GE — GJ/RCE - M

64. Hd TE ST I8 I THIY R T W R ?

(A) Chhata Pahar(B) Girodpuri (A) BA@wRe  (B) fiegd
(C) Bangoli (D) Telasigram (C) arett (D) T
65. Match the following Kings of South 65. TrfaRaa sfaror awra & T=iredi 1 39 a9

India with their dynasty. ¥ gHfera Sifsa|
a. Narsingh Varma i. Pandya a. T&e smt MRILES
b. Parantak (Vargun) ii. Hoysal b. W= (FTV) ii. grrEd
c. Kulottunga iii. Pallav c. ‘ iii. o
d. Vishnu Vardhan  iv. Chola d. oo ae iv. =
a b c¢c d a c d
(A) i Qi i v (A) k&iii iv
B) i i v i (BQ i v i
(©) ii Qi v i i v
(D) iv i i i ‘\ v i i
66. Match the events related to Shivaji with et & grafea gearet & 39 99 |
their year. 0 grfera hifsa|
a. Jawali Victory i. 1664 a. I fos= i. 1664
b. Fight with Afzal Khan ii. 16 b. 3THsIA @I & T ii. 1666
c. First attack on Surat iii C. G{d W IYH HATHHATT iii. 1656
d. Meet Aurangzeb @ 9 d. TUTSe | fierT iv. 1659
a b c d \ a b ¢ d
(A) i ivooi i @ (A) i ivoodi i
(B) iv Qi i ‘Q B) iv Qi i il
©) i i iii\o ©) i i i v
(D) i i v (D) i i v
67. The name of the ancient temple of 67. IAISTH ATl o WA Tk 1 919 8
‘Tala’ in this State
(A) Devrani Jethani temple (A) < SI3HT AfT
(B) Battisa temple (B) arfia Afex
(C) Madva temple (C) wean it
(D) Rudreshwar Mahadeo temple (D) ¥V HETed Higt
TF whE o foTu T
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68. Chitrasen a disabled mountaineer of 68. 3U TSI o g ydanre! fo=aA
this State has not done mountaineering fr=farfiaa < 4 ydamige =2 foram 2
the following Country
(A) Russia (B) Tanzania (A) &4 (B) awit=n
(C) ltaly (D) Australia (C) Scoit (D) ereefor
69. Match the following Kalchuri ruler of 69. IO o FHHIRIRET Sherg L IMEehI ohl ok
Ratanpur with the year they started I JET B aTel 9N | Hford shifer |
their rule.
a. Jajalldeo | i. 1135 a. SSledied Jud i. 1135
b. Prithvideo I ii. 1495 . g ii. 1495
c. Baharendra Say iii. 1581 iii. 1581
d. Laxman Say iv. 1090 C a iv. 1090
@ boed A\, o2ed
(A) iv i i i (A) iv i iii
B) i v i i 0 B) i v i i
(C) iv i i il * (C) iv i i il
(D) i v i 6 (D) i vl
70. The gift given to Kamavi Q the 70. 38 UST H HUST EHHTA H 187 S84 &
occasion of Raksha Ban ring the T T FHTSHER 1 fU I a1et IUER
Maratha rule of this S called Sl el ST o
(A) Rakhi Kar (A) Tt
(B) Tika and NaZarana (B) z'msfr{wm
(C) Rayat Bhent (C) ¥a ¥z
(D) Sehsal Bhent (D) =T We
71. The answer of the riddle ‘Ek rukh mein 71. 39 YAl o1 I FdASd Tk &9 H o9 31
tein thi sag’ is anr’
(A) Munga (B) Khera (A) T (B) @er
(C) Charota (D) Aloo (C) == (D) A
T & o foTg T
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72. ‘Daga Kahun Ke Saga Nahi’ this idiom 72. frafaRad HaTal bl 319} qergy E’ﬂah_z;
means o T TRl
(A) The relatives deceive (A) wder € amar od @
(B) Anybody can deceive (B) et whis +fi suferd < Hehell @
(C) People get deceived in odds (C) R TmI | AN el T 5T &
(D) None of the above (D) 3T H W IS A
73. Match the civil revolts against the 73. @ﬁw%%@gﬁ e fage =i
British rule with the year it started. Wwﬁﬁ%aﬁﬁgﬁﬁlﬁﬁﬁﬁﬁl
a. Sanyasi Revolt i. 1830 a. g fagre . 1830
b. Santhal Revolt ii. 1828 b. g fase ii. 1828
c. Ahom Revolt iii. 1822 C. iii. 1822
d. Ramosi Revolt iv. 1770 d. iv. 1770
a b c¢c d b c d
(A) Qi i v i Lo v i
(B) iv i i i ‘\@ v i i
©) iv i i i ©) iv i i i
(D) i i v (DQ (D) i i v
74. Match the buildings of medieval * 74. \FHTAN ITAT T Al F 9ol
regional architecture style % KGRI gﬁﬁm ENSel
States.
a. Jhinjhari Mosque ngal a. Terert afese i. ST
b. Hindola Mahal \Jaunpur b. &< e i, ST
c. Tomb of ® iii. Gujarat C. 37THS T8 kI AehelT il TSI
Ahamad Shah
d. Lotan Mosque iv. Malva d. e Afese iv. HTeTaT
a b ¢ d a b c¢c d
(A) i i i v (A) i i i v
B) i i v i (B) i i v i
(C) i v i i (C) i v i i
(D) None of the above (D) 3T | W RIS A
TF whE o foTu T
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75.

76.

77.

78.

79.

Which tribe of this State got its name
because of its arrow making ?

(A) Jhara (B) Bhunjiya
(C) Dhanwar (D) Kandara

‘Dahaka dance’ is the main dance of
which tribe of this State ?

(A) Pardhan (B) Dorla
(C) Kole (D) Oranv

When did Mahatma Gandhi withdraw
the non-cooperation movement ?

(A) 12 Feb. 1922
(B) 5 Feb. 1922
(C) 8 March 1922
(D) 12 March 1922

The ornament ‘Lurki’ is worn
(A) Neck (B) Ear
(C) Nose (D) Arm

Who was Sitaram of ‘Sitaram
the saga of this State ?

(A) Nomad

(B) Tri f
(C) Kalchuri ruler (D) @rd

O
\@ﬁ

75

76.

77.

79
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. U USI o oy SIESITd T 919 38k <191
fAmior o o T et ¢

(A) @ (B) s
(C) gdar (D) =su

"TERT T 3H T o Toh¥ ST I
THE AT

(A) EH (B) eRe

(C) =it (D) T

TETHT el 3 TSI e hel JT99
o ?
(A) 12

(B)

&

1922
1922

1922

2 1T 1922

N, “TRI’ AT Se Rl e ST § 7

(A) T (B) =M
(C) Ak (D) =
. 3T ST M HARW T 1 HaH
i ot ¢
(A) SST (B) et gRaan

(C) woagiRizm&sh (D) =aETEl

80. In the tradition of thi % e correct 80. 3 USY h! TORT H T ST7H 3cdd o T
sequence ofthe@ he child birth T HT T FH B
festival is \'

i. Oli bharana i. STt s

ii. Sadhouri ii. |

iii. Chhatti iii. St

iv. Feed of Kankepani iv. ST e

(A iv i i i (A iv i i i

(B) i i v (B) i i v

©) i i v i ©) i i v i

(D) i iioivo i (D) i iiivo i
TF H1E & o T
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81. Consider the following statement 81. ohalrT w1 o Hed § 1 e W fo=r
regarding Kailash Caves. SIS |
1. It has been built by Sant 1. I8 TTHI Ad THIITH *l%{lg{c\m
Rameshwardas Gahiraguru. Fffa g
2. ltis temple of Lord Shiva and 2. Igl fyra 3tk urddt hr Afex 2 |
Parvati.
3. Ashram has been built here by 3. I8l F3N LTl Fl ASH 1T T
breaking hard hill. TR |
(A) Only 1 is correct (A) Faa 1T 2
(B) 1 and 2 are correct (B) 12w d
(C) 1,2, 3 are correct (C) 1,2, 3Tdt?
(D) Only 3 is incorrect (D) Tod 2
82. Consider the following statements 82. T = oM W fomam S |
regarding Chhuri. Q
a. Rocks of Gondwana System is d X IET Mea™T 3 shl T I18 STt @ |
found.
b. Coal deposit is between sand Q b. FET T TeeR TR I TE o s shiFiet
stone and shell bed. 0 FET R |
(A) aand b both are related (A) a 3R b gF! Haferd &
(B) aand b are not related 6 (B) a 3 b & ofiw gay & 2
(C) aistrue, b is false (C) a@dl, bTed ?
(D) ais false, b is true O (D) aTed, b HE®
L 4
83. Match the following yi \? disease 83. TRIToRU YEWU ¥ Hafed Attt T ol
associated to t irenmental e IR |
pollution.
1. Water pollutioma® Bronchitis 1. 511 9gw0 a. SiehEied
2. Air pollution  b. Gastroentitis 2. dg g b. Mig<Eiea
3. Soil pollution  c. Deafness 3. a1 Yguul c. SHd
4. Noise pollution d. Food poisoning 4. A Igu d. @ fawmeraan
1 2 3 4 12 3 4
(A) a b c d (A) a b c d
(B) a cd b By a cd b
(C) b ad c (C) b ad c
(D) a ¢ b d (D) a ¢ b d
TF whE o foTu T
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84. Green mufler is used against which 84. I T I ITANT foh¥ TehI o TGO I
type of pollution ? Frafa & & fag fFn srar 2 °
(A) Soail pollution (A) HaT Juul
(B) Air pollution (B) <mg emur
(C) Noise pollution (C) o+ wgwu
(D) Water pollution (D) STt 9quu1
85. Match the following : 85. U IW AR
List -1 List -1l ‘Fﬁﬁ—l ‘G@"T—II
(State) (Population (T==) (a6
characteristics, T,
according to AuTET 2011
Census 2011) o TTER)
1. Bihar |. Highest Q)Qw | Tatferes e
Population * EARCELE]
Density \’
2. Meghalaya Il. Highest 2. T . Tatfees v
Decadal 0
Growth * K
3. Kerala lll. Highes 3. w . waiferss
Ratio f\am—:[qm
4. Mizoram V. Hi 4. fosrm V. Haﬁ%?:ﬂ”{%l‘d
@j duled ST STEE
b
\/QPopulation
. Highest V. waifees sggfa
Scheduled S S—
Caste
Population
1 2 3 4 1 2 3 4
A T mv A T mv
@ Il 1 v v @ 1 m v v
© 1 1 v V © 1 1 v V
@ I 1 IV V @ I 1 IV V
T & o foTg T
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86. Which of the following crop is different ? 86. O a - wvaafar=r2 ?
(A) Sorghum  (B) Bajra (A) SR (B) st
(C) Barley (D) Maize (C) st (D) @kt
87. To provide water in Naya Raipur in 87. 1 TAYL H SIATY[d &g HeMal | fohd Toe
which place Anicut was been made TR TR ST R 7
in Mahanadi ?
(A) Rajim (B) Tila (A) Tlem (B) Jrem
(C) Amsena (D) Arang (C) maT (D) =R
88. Which are mismatched ? 88. #hI-¥ YHlcTd Tl & ?
a. Human Stomach— Hydrochloric - A
acid
b. Bee sting — Ethanoic acid T Sh — TIHISh 3T
c. Glass — Supercooled . . — rfasfiafed sa
liquid NG
d. Thrombin — Blood clotting d. gmfsq — T 1 e ST
e. Aluminium — Best 0 e. TfHT-=H — Torgd w1 3w
conductor Ol s EINED
electricit
(A) aandc (B) ban (A) atdc (B) bwe
(C) aandb (D) ca@ (C) aTib (D) cuwd
89. Which of the fol o@xalley of | 89. femre < fier d 4 form =dl ol o S ER
Himalaya is call n and dwar ? FEd § 7
(A) Greater Hﬁg (A) e femmer
(B) Lesser Himalaya (B) =g femre™
(C) Shivalik Himalaya (C) farafersh femmer
(D) Eastern Himalaya (D) it femrer
90. How many morphological regions is 90. A i Tohd 3TTeRfeh awTi | sifeT T © 7
India divided ?
(A) Two Part (B) Four Part (A) = am (B) =R 9T
(C) Three Part (D) Five Part (C) <= s (D) dr= 9
TF whE o foTu T
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91. Which of the following air pollutant 91. fTufern it feramsfierar =t f & @ S -
inhibits the cilia action ? Y TG TG AT & 7
(A) Sulphur dioxide (A) HeH ST SATFATEE
(B) Nitrogen oxides (B) 32N IS
(C) Hydrogen cyanide (C) TIsgINH drslss
(D) Carbon monoxide (D) HTeA HIAT TTFATES
92. Which physiological effects of fluoride 92. UIUSE 1 hi -1 I YTE Tel 8 7
are correct ?
i. Glycogen level increases. i. TATIhISH &L ST § |
ii. Glycogen turnover get ii. TS AR B T S |
depressed.
iii. Phosphorylase activity Tfhardt ¢ STl ® |
increases.
iv. Activation of acetate inhibiting () WWWE@?WW‘H
the liver lipase. FAATE |
v. Interference in iron uptake. *v. s STTRRIEY § S gg=Ta & |
vi. Effects parathyroid hormone. 0 ﬁT[QTPJTE{@ BT b1 JTferd il 2 |
(A) iiiivvvi (B)i ii v vi i ivvvi (B) i ii v vi
(C) ii iii iv vi (D) ii ivv v% (C) i dii ivvi (D) ii ivvuvi
93. Consider the foIIowingost@ 93. fa=fafad syl ot fo=m i |
1. Jamnalal Bajaj Sa oject is 1. SHATATS SISTTS! SR 9TEISHT T8t e
on the Mahi rive wWe |
2. Indira Ga Ral originates 2. &0 oSSt O 3fe el et feherd © |
from Hari rrage.
3. Tehri dam is built on Ganga river. 3. el sngmmadi ma g |
Which of the above statement is/are IR A T weA § wH-T1 /A T R 7
correct ?
(A) 1and 2 only (A) Haadt 1 3R 2
(B) 1and 3 only (B) hawt 1 3R 3
(C) 2and3only (C) ad 2 3R 3
(D) 2only (D) e 2
T & o foTg T
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95.

96.

Which city of the country belongs to
‘No risk’ Zone — | of Earthquake ?

(B) Bhopal
(D) Haridwar

(A) Bengaluru
(C) Mumbai

Chhattisgarh best Sagon (Teak) is
found in

(A) Keshkal Valley
(B) Khursel Valley
(C) Pinjarin Valley
(D) Darbha Valley

Sugarcane industry has been

established in Chhattisgarh
(A) Ramhepur, Karkabhat,
Arasmeta

Ramhepur, Harinchapra,
Arasmeta

(B)

00)

02223/GE — GJ/RCE - M

94. QT HH-F1 IS YHY o+ A Tk
q&T - [ H g ?

95.

96.

(C) Ramhepur, Barmkela, Lamni mt%’gt SHhAT, AT
(D) Ramhepur, Karkabhat, Ke (D) TG, RIS, Rl
97. Match the following. 97. 3fud wey SifeY |

1. National Film \@nly 1. UM fohen a. !
Archives @ U

2. LV.R.L. \Qb. Bengaluru 2. TE.FE.AR.TE b. SHTeT®

3. Indian Inst%b c. Mumbai IR o gea= ¢, §ofs
of Science

4. T.F.R. d. Pune 4. .. TE. AR d. qur
12 3 4 12 3 4

(A) d a b c (A) d a b ¢

(B)d ac b B) d ac b

(C) d b a c (C) d b a c

(D) d ¢ b a (D) d ¢ b a

TF whE o foTu T
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98. Match the following. 98. uE S fiesy |
1. Metal Park a. Bagod 1. T UTh a. ¥ (gmad)
(Dhamtari)
2. Engineering  b. New Raipur 2. SAFETARE b, 79 TR
Park
3. Food Park c. Raipur 3. $S U c. TAR
4. Electronic d. Hathkhoj 4. AR d. zoE (ferg)
Manufacturing (Bhilai) ﬁ:@aaﬁqw
Cluster
12 3 4 1 4
A a b ¢ d (ALANDS ¢ d
(B) c d a b g)@ d a b
C d b ¢
(C) c a \‘ c ad b
D) ¢c b a d Q(D)cbad
99. Which river forms by Chitrakoot * 99. femrehie STt yuta form et W feda ® 7
water falls ? 6
(A) Mahanadi (A) HEHE
(B) Shivnath River (B) fRrammy et
(C) Kotri River @\ (C) Freh T
(D) Indrawati (D) SsTadt Fet
100. Which district is largest production of 100. BiETe § et 1fereh Tiig 3TI%eh o1 IcaTeH
Iron ore in Chhattisgarh ? fra S gare ?
(A) Baster (A) &R
(B) Balod (B) wTeE
(C) Durg (C) i
(D) Dantewada (D) Edarer
TF o foTu T
Space for Rough Work
-29- Set-A



-

101.

102.

103.

Which item has highest contribution
in export of India in the year 2019-20
(April to November) ?

(A)
(B)
(C)
(D)

Iron and steel

Petroleum products

Pearl and Precious stones
Readymade garments

Which year has negative growth rate
in SGDP of this State during 2016-17
to 2020-21 period ?

(A) 2016-17  (B) 2017-18
(C) 2018-19 (D) 2020-21

What is correct about the procedure of
Constitutional Amendment ?

i. The bill should be passed by the

the house and a maj
less than 2/3 of the s of
that house presenT ting.

ii. The bill should t@ed by the
each hou arliament by a
majority of e then members
of the house and a majority of not

less than 2/3 of the members of
that house present and voting.

101.

102.

02223/GE — GJ/RCE - M

¥ 2019-20 (31 ¥ TR ) I &
ﬁaﬁ;ﬁ%&rm/mww@ﬁwaﬁw
e I

39 U o Tl O] 3916 | 2016-17 &
2020-21 =it rafer # ford a9 Ko Ifg
[T 7

(A) 2096-
(C 8-19

(B) 2017-18
(D) 2020-21

108. %mésﬁmu‘@m%sﬁwﬁaﬁw% ?

>

each houses of Parliament by
majority of total membershj %
i t

i, TaerTe: oe o Toish e | 39 Ted il
Fol T TEA1 o FgHd g 991 39
& o JUTEYA qYT HA o Il Tawt
% FHH-H-FH 3l [deTs Jgad g I
BT =R |

ii. faeres 9o & I Hed U 39 U
o6l e AT % SIgHd g a3
e o U qAT A < aTel Teeal
o S -U - 2l =TS TgHd g i
BT =M(ET |

(A) iis correct (A) iEE?

(B) iiis correct (B) ii@d?

(C) iand ii both are correct (C) i3 ii gl @dt 2

(D) iand ii both are wrong (D) i 3T i ST TTerd ©
TF whE o foTu T
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104.

105.

What is correct ?

i. The property and income of a State
is exempted from union taxation.

ii. The property and income of some
States is exempted from union
taxation.

(A) iis correct
(B) i is correct
(C) iandii both are correct

(D) iand ii both are wrong

What is not correct about the
removal of Speaker of Lok Sabha ?
i. Resolution should be passed by
the majority of the total strength
of the house.
ii. Resolution should be
the majority of the the

02223/GE — GJ/RCE - M

104. T FME?
i. foreht T < grata R ST Bl Eg &
A GBI 2 |
ii. T® TSl ! FEaf TR T &l T4
U Y P2 B T |

(A) T

(B) ii e ?
(C) i 3% I &t 2

(Db T TTeAd &

1 %m%a@%ﬁm&r%%ﬂaﬁw
EEECR
i. ¥ hl Fl G HEAT % gHd °
Hehed T g1 =1 |

ii. H& I qeehiela T T&AT o SgHd
Y Tk ITHG BT T1TRT |

of the house. . .

iii. Resolution shou assed by iii. "ad ﬁ Jufeerd an AAET i dTed
the majorit b&rs of the e o dIgAd ¥ Hehod UG AT
house pre ahd voting. R |

iv. Resolutions be passed by the iv. e o FRUE IgHd 9 Hehed 0Tid g1
absolute majority of the house. iU |

(A) i i i (A) i i iii

(B) ii i iv (B) ii iii iv

(C) iii v i (C) i v i

(D) iv [ i (D) iv [ i
T & o foTg T
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106. Consider the following statements :
i. President can say to the Council

of Ministers for reconsideration on
any advice.

ii. Governor can say to the Council
of Ministers for reconsideration on
any advice.

Choose the correct answer :
A) iis correct

(C) iandii both are correct

(A)
(B) i is correct
)
(D)

i and ii both are wrong

107. Whose share is increasing in total GVA

of India at current prices during 201 4%
to 2017-18 period ?

(A) Agricultural crops |

(B) Live stock \
(C) Forestry an 0 %
(D) Fishing

108. What percentage of the total
geographical area of India is covered

02223/GE — GJ/RCE - M

106. 7= et W fomm hifSiw
i. Tseufa, af=dieg o fordt qomst w
AR % T & TRl 2 |

ii. T, wiEie o et wmst W
AR o 7T =g Toar ¢ |

T 3T T T T :
(A) i
(B) J
g)gfﬂii?ﬁ?ﬁl?ﬁ%

i 3T i 21 Terd ©

a9 2014-15¥ 2017-18 <t 3= 1 Y=t
STl T WRA o $el dohel Hod a8 | fohd
&5 ol feeT Ted @R ?

108. ¥R 4 Wfdaa 2019 o TTHR AR o el

by forest and tree as per India State m%ﬁﬁﬁuﬁmﬁﬂmaﬁ@q@
of Forest Report 2019 ? Y AT IMed @ 7
(A) 21.56 (B) 23.56 (A) 21.56 (B) 23.56
(C) 24.56 (D) 25.56 (C) 24.56 (D) 25.56
TF whE o foTu T
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109. Who can be recalled from his office ? 109. 3194 U ¥ fohd germafdd ferarm St aehan @ 7
i. President of Nagar Panchayat i. TR USRI T AEqe
ii. Vice President of Nagar ii. T U= T 3UTEAE
Panchayat
iii. President of Municipal Council iii. TUTcTeRT UTiye T TeAE
iv. Vice President of Municipal Council iv. TTITfeTeRT Uftye T IuTEde
(A) i, ii (B) i, iii (A) i, i (B) i, iii
(C) ii,iv (D) iii, iv (C) i, iv (D) iii, iv
110. On which matter both Houses of 110. Tora fowg & gge & <M1 Tl & qqH
Parliament has equal rights ? 3fe ?
i. To dismiss the judges of Supreme i AT o =refen sl ue=d
Court Q
i. To dismiss the judges of High ¢ i/ Iod AT o AT hl 9e=gd
Court \’ T
iii. To dismiss the President iii.  Trsgafd st ug=d HE
iv. To dismiss the Vice Pre3|den iv. TSI 1 UG=gd T
(A) i (A) i
(B) i, i (B) i, i
(C) i, ii, iii . O (C) i, ii, iii
(D) i, i, iii, iv \ (D) i, i, iii, iv
111.  Whatis the rank %garh inState | 111. 5 forga wnfereRtor =5 faoett o frard
electric house rage production 13 foffr o 2020-21 H 379 s 2020
in all India as pe¥Central Electricity # feuf & sediomg &1 s R T
Authority New Delhi Report in Financial 3 ] 3 37
year 2020-21 up to October 2020 ? EUSERIER IR ECAC A
(A) First (A) 9™
(B) Second (B) fgdta
(C) Third (C) qdr
(D) Fourth (D) =g
T & o foTg T
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112. Who will not be member of committee 112. q;ﬁs;tsgvﬁa; = gre 0 Tuffa s
constituted for fixing minimum support o foru nifad sruet o ik Heww 9t g 7
prices of the agricultural crops ?

(A) Agricultural Minister (A) FN

(B) Representatives of Farmers (B) ferami o wfefafer
(C) Economists/Experts (C) refarrett /o
(D) Government Representatives (D) TR & gfaffe

113. Whose salary is charged on 113. Toroent agmafaa ffer o arfd grar g ?

consolidated fund ? &
i. President ()ng}%
ii. Vice President . Il.
iii. Speaker of Lok Sabha FﬁEFHﬂTEFr A
iv. Chairman of Rajya Sabha @ iv. TS| o T9id
(A) i, i, ii B) ii, iii,q& (A) i, ii, ii (B) i, iii, iv
() iii, iv, | (D) 1\® () i, iv, i (D) v, i, i

114. Who requires t@zeeting of Gram | 114. T |1 <l 5% el ol STUET shiH ST © 7

Sabha ?

i. Janpad Panchayat i. U =R
ii. Zila Parishad ii. e uftg
iii. Collector iii. ForF
iv. Gram Panchayat iv. T 9=
(A) | (B) i, i (A) | (B) i, i
(C) i, ii, iii (D) i, ii, iii, iv (C) i, ii, iii (D) i, ii, iii, iv
TF whE o foTu T
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115.  For which crop of this State has been 115. 99 2020 ® 39 TSI i fohe w8 & fog
given “Krishi Karman Award” in the iy o R fe T R ?
year 2020 ?
(A) Paddy (A) &=
(B) Maize (B) T
(C) Food grains (C) wrEm=
(D) Horticulture (D) et
116. What is the trend of growth of rate of 116. o 2@@ 2020-21 i 3@ # 39
manufacturing sector in Gross State T“@ WS 3care H fafmior &
Domestic Product of this State during %a'{aﬁgqﬁ[w% !
2017-18 to 2020-21 period ? Q
(A) Increasing 0 (A) SEdr g
(B) Decreasing qﬁ (B) ®=edrge
(C) Constant (C) fer
(D) None of these \ ) T O HIE T
117. Who has introo@Prime Minister 117, “aEst T Sk AT i ToRE TR
Gram Sadak Yojana” ? feperr 7
(A) Shri Narendra Modi A) sfi. Tz A
(B) Smt. Indira Gandhi (B) #fiwet sfew et
(C) Shri Atal Bihari Vajpayee (C) »ff 31z forgrt arsru=ft
(D) Shri Rajeev Gandhi (D) +ff Tsfta mieft
T & o foTg T
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118. What happens when President 118. e Tsgufe forelt T ® wifarenfaes dehe i
proclaims Constitutional crisis in a SCEYOT AT ®, T BT ® 7
State ?
i. Cabinet will be dissolved i. wfEmuea W 8 Sem
ii. Chief Minister will resign ii. T T § 9
iii. State Legislative Assembly will be iii. T T | foefea & s
dissolved
iv. State Legislative Assembly will be iv. T faam g Fafrd 2 st
suspended
(A) i, ii (B) ii, il (A) i, ii (B) ii, il
(C) i, iv (D) v, i (C) i, iv (D) v, i
119. Which inflation index is released by | 119. WRd R{wN-& GEhIfd Yemieh T
National Statistical Office (NSO) in T FT SR ST <Rl STTdl @ 7
India ? N
(A) Consumer Price Index-Combined \?A) IYNIFAT ShIHd Fehich-HIFHTCTd
(CPI-CY) (CPI-C)
(B) Consumer Price Index-Industrial (B) 3uHIerdT shHd Ferehich—3{Teiiieh sifieh
Workers (CPI-IW) 6 (CPI-IW)
(C) Consumer Price Index- ural (C) Ui hiHd Fhh-hi A
Labourers (CPI-AE (CPI-AL)
(D) Consumer Price ural (D) IuviedT hHd Faehich-TTHIOT iR
Labourers |- (CPI-RL)
120. What is the minimum support price 120. @9 2021 & foQ SErTE | ATERoT 9 1
of ordinary paddy in Chhattisgarh for ngﬁq@w% ?
the year 2021 ?
(A) Rs. 1868/- per Quintal (A) %. 1868/- ufd fagea
(B) Rs. 1940/- per Quintal (B) ®. 1940/- ufd fagea
(C) Rs. 1960/- per Quintal (C) %. 1960/- fd faaea
(D) Rs. 2840/- per Quintal (D) %. 2840/- 3fd fFaea
TF whE o foTu T
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(ii) (i)
121.  Which Caribbean Island became 121. FEeR, 2021 | i -81 ST 619 Toras
Republic country in November, 2021 ? T 7
(A) Cuba (A)
(B) Antigua (B) 1‘{0?,‘1{[311
(C) Barbados (C) SraTE™
(D) Bahamas (D) <=’™HE
122.  In which of the following country, G-20 | 122. 2022 ¥ S{i-20 < T TSH 4 8
Summit will be organize in 2022 ? o form 291 1 fora st ?
(A) India (B) Brazil (A) (B) sl
(C) Indonesia (D) France (C) % (D) %E
123.  Who amongst the following playerhas | 123. g% . fova Sfemfim &
received silver medal in BWF World @qﬁwmm@(ﬁqﬁ@ﬁmﬁ@
Championships of 2021 ? qﬁq% ?
(A) Srikanth Kidambi Q
(B) Lakshya Sen 0 ) Ff?ﬂﬁtr
(C) Ashwini Ponappa * (C) afgart oo
(D) B. Sai Praneeth 6 (D) sft. @Ts S
124. Who amongst the foIIowir@Q 124, = H @ & 39 TF % Taaiie) o 7
mountaineer of this St ’
(A) Nishu Singh é\ (A) Ty o=
(B) Rahul Gupt (B) Tgel T
(C) Nisha Yada (C) fa=m =rea
(D) All of the above (D) 3Trerd @t
125. Prime Minister of India is honoured 125. 9Rd o YUEHA 1 G0 Gdied AN
by the highest civilian award Ngadag me@ﬁ@gﬁww’ e
Pelji Khorolo of which of the following fedafrgeneie ?
country ?
(A) Bhutan (B) Maldives (A) g™ (B) Hrewe
(C) Myanmar (D) Bangladesh (C) =MER (D) SFATRIT
TF o foTu T
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126. In which of the following city, India’s first | 126. =5 @ form It T WTRA =1 T 7194 Th
Open Rock Museum was inaugurated ? TR 3gHTed ge ¢
(A) Delhi (A) Teoett
(B) Kolkata (B) hictehTal
(C) Hyderabad (C) Taueme
(D) Bhopal (D) ST

127. Who is the Deputy Speaker of 127. 39 TSI <l qi=d] faum g § 3ursaey
5t Legislative Assembly of this State ? FHT 7
(A) Manoj Singh Mandavi (A) T foz Tert
(B) Vikram Mandavi (B) |
(C) Indrashah Mandavi (C) Herat
(D) Mohan Markam (D preap)

128. Who amongst the following is an author 2& FIET IUTE o AGH AT Y A 7
of novel Bhulan-kanda ?
(A) Manoj Verma Q (A) TS gt
(B) Sanjeev Bakshi (B) wsfia sesft
(C) Vinod Kumar Shukla é (C) ToHIE AR &
(D) Abhishek Agrawal (D) Afimeh taT

129. Which of the followin ?9@ dance | 129. T # @ 9 owat sl T edt &l © 7
form of Bastar ?
(A) Jhirliti ’ﬁizaksar (A) et (B) AR
(C) Gaur Rahas (C) TR (D) ®w|

130. Which of the following is a group of 130. =1 4 @ -4 FaTS M HT AR R 7
QUAD countries ?
(A) America, Japan, Australia, Britain (A) TR, ST, STt s
(B) India, America, Australia, Germany (B) WId, TR, AL AT, STHAT
(C) America, India, France, Australia (C) iR, IRd, B, et
(D) Japan, India, America, Australia (D) SIUM, YR, 3, A feran

TF whE o foTu T
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131. Panijshir valley is the province of which | 131. uefRard A a frgesismwia? ?
of the following country ?
(A) Turkmenistan (A) ToRE-TEaH
(B) Iran (B) =™
(C) Afghanistan (C) THIEa™
(D) Uzbekistan (D) 3STeIfehEd
132. What is the rank of this State in Ease | 132. 2019 & 3 31i% 37 foreii@ & 30 T=F I
of doing Business as on 2019 ? FHHA-GT2 ?
(A) Fourth (B) Sixth (A) =en (B) ®aal
(C) Fifth (D) Eighth (C) df (D) eAreat
133. Who amongst the following is present 133. = d I4HE | 9 o T g
Chief Election Commissioner of India ? 7
(A) Sushil Chandra %raT
(B) Sunil Arora @
(C) Om Prakash Rawat @HWW
(D) None of the above OQ (D) U | ¥ RIS A
134. Which State has minimum num 134. 2022 ¥ =ifyq foem au gAmat # ford U=
seats for Legislative Assem o HIei hl T T9E FH
declared in 2022 ?
(A) Punjab (A) asTTe
(B) Uttarakhand @\ (B) sTIEE
(C) Manipur (C) wofi
(D) Goa \Q (D) e
135. Development of Covaxin is based on | 135. ahidfads o1 fFmior = 4 @ fopg w
which of the following ? e § 7
(A) Viral vector (A) TS STEeh
(B) Inactivated virus (B) Tfssha ooy
(C) Protein (C) 9
(D) R.N.A. (D) sR.TiT.
TF H1E & o T
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136. In which of the following location, | 136. 3HTSIH uMa i Siret & fHmior it e
development of man-made forest is = ° 9 forg TIH W yEdTfad © 7
proposed in this State ?

(A) Bilaspur (B) Durg (A) ToreATEgR (B) gﬁ
(C) Raigarh (D) Dhamtari (C) T8 (D) eHal

137. Dutee Chand honoured by Veerni | 137. 30 T3 o o] e&hR § 1A gt =@
award of this State is associated with FOaU fFa @ g ?
which sports ?

(A) Boxing (B) Archery (A) TFRETSI (B) daTsit
(C) Weight lifting (D) Sprinting (C) (D) <

138. Who amongst the following Rajya 138. , 2020 § = 4 9 form
Sabha member was awarded by eI o] GETHG fopam 3 ?
Sansad Ratna award, 2020 ? .

(A) Saroj Pandey \YA) TS TR

(B) Chhaya Verma 0 (B) =T |l

(C) Phulo Devi Netam (C) et aft s
(D) K.T.S. Tulsi 6 (D) *.&.wE. qaE

139. 1.H.U. variant of Corona v, @s 139. I Ty =1 3178, T=.9, afEe =l udl
detected in which cou txn fragnd e ?

(A) France éﬂt (A) ®rE (B) foiea
(C) South Afri\) India (C) cfeqor athishr (D) wRd

140. Which of the following is a member of | 140. = % @ & foe@ & = SaauHe oF 1
New Development Bank of BRICS ? T g 7
(A) Bangladesh, Uruguay (A) AT, IFT
(B) Bangladesh, UAE (B) waATeNT, 4.U.E.

(C) Bangladesh, Egypt (C) e, frg
(D) All of the above (D) 3Trerd At
TF whE o foTu T
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141. Which is the venue of the ICC U19 | 141. 3T5.€. €. 37t 19 forwar o forehe wideast,
World Cup Cricket Tournament, 2022 ? 2022 1 S A HIF-AT 2 7
(A) West Indies (B) Australia A) % 3fe (B) Irmeferan
(C) South Africa (D) New Zealand (C) sfeo sthrert (D) —qficis
142. India has manufactured the Brahmos | 142. wRa < =14 o forg <31 o T foreremt stena
Missile in association with which of the fraa s R 7
following country ?
(A) America (A) mfE
(B) France (B) &
(C) Russia (C)
(D) Israel (D)
143. Who won the 2022 India Open O 2 1 3T A9 Sefie gt
Badminton Tournament ? ﬁﬁaﬁ\‘ﬂ"]ﬁ‘] ?
(A) Srikanth Kidambi Q
(B) B. Sai Praneeth 0 B) . FFI’%‘SH'T?I
(C) Sameer Verma é (C) =R amt
(D) Lakshya Sen (D) @& o
144. Where the foundation as laid | 144. TSR @=g U favafoamer i TuaT &
for the establishmen S%Wor Dhyan T smem f3ren =t w18 ?
Chand Sports
Mumbai L%New Delhi (A) g3 B) =% faeett
(C) Meerut Pune (C) ™3 (D) oI
145. In 2021, Ramesh Bais of this State 145. 2021 # 39 TSF o W oF foh8 T
became Governor of which State ? TSI TR T 7
(A) Tripura (A) Brgu
(B) Jharkhand (B) IN@E
(C) Manipur (C) HUfig
(D) Odisha (D) snifesm
TF H1E & o T
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146. Who amongst the following is Director | 146. o 3 A< fiben o fieweh A A A A E 7
of the film Bhulan the Maze ?
(A) Anurag Basu (A) ST Y
(B) Sanjeev Bakhsi (B) Gfia seHt
(C) Manoj Verma (C) TS
(D) Manu Nayak (D) #g IR
147. Aim of Chirag Project is to provide 147. oo I o1 32w 1 0 9 form oy
benefits to which of the following ? feamre ?
(A) Students (A) ferameft
(B) Farmers (B) foram
(C) Laborer (C) =
(D) All of the above (D) ‘f@%‘ﬁ
148. Who won the first prize in National 148. 30 T R AT TR ATt
Tribal dance festival organized by this . HEIcEd | ford ToH TEEhRR W g3l 7
State, in the year 2021 ? \’
(A) Jharkhand (B) Odisha OQ (A) IREE (B) sfifem
(C) Assam (D) Chhattisgar (C) =t&H (D) BcdrETe
149. Which award/honour was,gi %} 149. 2021 & TST JAAHOT H -8 T/
Kumari Rohini Sahu in 2@3]% TEEHR HH UTSoft |18 i foarm w7
Alankaran ? ¢
(A) Rajeshwari Kan@a award (A) WWWW
(B) Mini Mata (B) Tt mrar wwmm=
(C) GundadhurWghour (C) TSI §F M
(D) Smt. Bilasa bai Kevtin award (D) sfiweht forermen =78 Shad= JeehR
150. Which Scheme of this State is named | 150. 38 TS sl - AT T 774 T, Go<d
after Dr. Khoob Chand Baghel ? qIA & T LG TR 7
(A) Kisan Nyay (A) Toram =
(B) Godhan Nyay (B) TeH =
(C) Health Aid (C) ToTeeq e
(D) Van Mitan (D) == foram
T ®rE o fore T
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PART —2 /91 -2

OTHER/ 31
151. In which price, the general family is | 151. 39T T Grawii-eh forawor gomeft o F=dria
provided rice under PDS in this State ? forg hmd W AT IiER 1 =ree fan
ST ? ?
(A) Rupee 1/- per kilo (A) T &9 9id feRett
(B) Rs. 3/- per kilo (B) < w7 ufa fohet
(C) Rs. 10/- per kilo (C) <& 73 gfd forelt
(D) Rs. 15/- per kilo (D) usE T4 Ui ferett
152. How many fair price shops are working | 152. SEUSTY 2020 e grasti-eh faraor
under PDS till November 2020 in this ~iia fore 3o e i g
State ? g@ F 7
(A) 11149 (B) 12451 149 (B) 12451
(C) 15514 (D) 4413 15514 (D) 4413
153. In which year, Food and Nutrien O;b 39 TSI W U 9N FRa A
Security Act was constituted in Frmtor fora ad o feram T 7
State ? 6
(A) 2012 2013\Q (A) 2012 (B) 2013
(C) 2011 (C) 2011 (D) 2015
154. Which type of,f @re given | 154. 38 TS % YA U4 HIST &7 H fohd TR
2 kgs chana per famity per month in & TTERT oht Wid giEr 2 foret ==t afd a8
Scheduled and Ma8la area of this State ? feasrar e ?
|. Antyodaya family | SFced IiER
Il. Priority family . SmerfieRar afEm
lll. Independent single family ll. wehat fAfsra uf@Em
IV. None of the above IV. IR H 8 H1E T8l
(A) | (B) landll (A) | (B) 13Tl
(C) LltandIll (D) L, 1I, lland IV (C) L s (D) I, sV
T & o foTg T
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155.  Which type of families are given 2kgs | 155. Tsd o s G | fohd TR o U@l &
gur per month in Bastar Division of the gfg are 2 ﬁ[@m‘ﬁgﬁmw% ?
State ? '
|. Antyodaya families | SFcTed qiEr
ll. Priority families 1. SrerfieRar afiEm
[ll. Independent single families ll. et ffsra ufEm
IV. Annapurna families IV. 3T=TqUr qiER
(A) | (B) land Il (A) | (B) I3l
(C) I, lland Il (D) I, 1, 1l and IV () LswRI (D) 1,1, RV
156. Which of the following language was | 156. RI¥eh QR oh PRI hl TR 3 o fordl fe
used to program early computers ? oy T ST okt T o 7
(A) Basic (B) COBOL (A (B) A
(C) Assembly (D) Machine (D) @i
157. Data and programs are stored in £11 U9 A T gufed gid
Uses them. when the processor T TS B 3R 39T LT ¢ |
(A) BIOS ) Main memory (A) = (B) T TmRY
(C) Disk memory (D Monltor (C) femrmmit (D) wifdeR
158.  Which of the following output 158. =1 & & o -w1 3M3eye feasa T ® 7
device ? @
(A) Barcode Raqs\ (A) TTHE TS
B) Printer ) ®) fi
(C) Plotter (C) Wi
(D) Flex machine (D) weied A
159. Which of the following device isashared | 159. = # & ®lH-a1 fearsy Freget e 4
resource in computer network ? Teh AT q9eH 2 7
(A) Keyboard (B) Printer (A) Frere (B) T
(C) Speaker (D) Allof these (C) Tftat (D) 3ured |t
TF whE o foTu T
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160. Identify the correct sentencesforaline | 160. T wred-et & ford @) ameit shi =M
printer. |
i. Prints an entire line at a time. i. U T | U g @ () fie
AL
ii. Itis a non-impact printer. ii. T U TH-30F T R |
jii. It allows multiple copies to be iii. 78 T @Hg H FE Ulqdl i A A
taken at a time. J1gAfd 3T 2 |
iv. It prints one character at a time. iv. %@Wﬁ@ T fie a2 |
(A) iandii (B) iand iii (A) i3 i (B) i 3 il
(C) ii and iii (D) iii and iv (C) ii il (D) i 3 iv
161. Under the Consumer Protection Act, 161. 39 AffTm, 1986 % =i
1986 “Complainant” means ¢ L T
(A) A consumer ERE Gl
(B) The Central Govt. and State Govt. AT TR TF T THR
(C) In case of death of a consumer Wﬂﬁwaﬁﬂﬁﬁaﬁﬁmﬁﬁzﬁ
his legal heir
(D) All of the above $
162. Under Sec. 2 (NN) Consumer,P | 162.  3UTeRdT TReAur ferfaem s gy 2(NN) &
Act, 1986 “Regulations” me “foafaa’ 9 srfaga =
(A) Regulations made ational (A) T st g fafafa fafem
Commissions
(B) Regulation y'the State (B) TF I g fafafia faf=m
Commissioxf
(C) Regulations ffade by the District (C) fStem e g fafafda fafem
Forum
(D) None of the above (D) 3IWiad § U whis Tal
163. Under the Consumer Protection Act, 163.  IUIeraT BRETOT STfeIfEm, 1986 1 sl
1986 provision of “Consumer Disputes Trare gfaaises stfseror’’ 1 <M= &1
Redressal Agencies” is P ICRICES
(A) Sec.9 (B) Sec. 10 (A) &9 (B) &mm10
(C) Sec. 11 (D) Sec. 12 (C) =m 11 (D) &mT 12
T & o foTg T
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164. Every Appeal under the Section 27 A | 164. 3JUsTrekdT G0 ATAIT9, 1986 I o
Consumer Protection Act, 1986 shall 27 & & dad Ycdah AU 3A1eI & feqreh o
be preferred within a period from the feadi Y 31afyy & sfiaw &1 S |
date of an order
(A) 15 days (B) 20 days (A) 15 feam (B) 20 feawm
(C) 30days (D) 45days (C) 30 feam (D) 45 feam

165. Under the Consumer Protection Act, 165. IUNIFAT G0 JTIHTH, 1986 & dvd
1986 shall be deemed to be a Judicial AU o gieror o fo7u =fies qverfeeri
Magistrate for the trial of offences aﬁ T STaT
(A) |Class srgmanﬁ
(B) 1l Class
(C) Session Magistrate
(D) Executive Magistrate tlﬁl@?

166. At present Kharif year 2020-21 in how aﬁ‘qﬁ@'ﬂtﬁaﬁ 2020-21 1 ferami & g
many Paddy purchase centers paddy 0 T SFrepichd SaET § foha 9T Tl
purchasing from farmers throu Heal 9 T 7
computerized system is done ? 6
(A) 2510 \Q (A) 2510
(B) 2410 N O (B) 2410
(C) 2310 \ (C) 2310
(D) 2610 & (D) 2610

167. How many ra;oX'card owners are | 167. 0 U3 ¥ fohad T 1€ enfii st 3
distributed ration materials per month UTAATIER S HTE TTeS(-eh Tora<or Sorett &
under PDS in this State as per their T IR 1 oo frar ST R 7
eligibility ?

(A) 57.11 Lakh (A) 5711 @

(B) 76.11 Lakh (B) 76.11 @@

(C) 67.11 Lakh (C) 67.11 @M@

(D) None of these (D) ¥4 ¥ %15 T
TF whE o foTu T
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168. What percentage of people of this State | 168. 38 T=a & foha Ifara < =t TsdT @
is found eligible to get 5 kgs. food grains LSRes1l srfufaag o g gfd ge=g 5 fohall
per member by the National Food e IBIE R I EETC B AR IE D IRARIE I
Security Act ?
(A) 76 (B) 77 (A) 76 (B) 77
(C) 78 (D) 80 (C) 78 (D) 80
169. Chhattisgarh State is awarded for | 169. SIEIE TST ! TSI Heh TSIqL0T JUTAT =T
computerization of Public Distribution Wm%mww—g%
System
|. National e-governance Award ﬁ?ﬂqa ERICET iG]
II. Manthan Award
ll. e-India Award aﬁntcf
IV. Prime Minister Award
(A) | (B) landll | 3|
(©) Lllandlll (D) LI, 1lland IV 1S (D) NI
170. What minimum support price for Padd 0 ;: ¥ 2021-22 % oIt TR & g1 9 IS A
Grade A is fixed by the Governme A F fore =gan Tmela ger o fuffa e
the year 2021-22 ? e ?
(A) 1,868 per quintal 6Q (A) 1,868 ufd fagea
(B) ¥ 1,920 per quintal\ (B) 1,920 ufd fagea
(C) % 1,888 per qui @ (C) 1,888 7fd faeiee
(D) % 1,940 pq&y (D) % 1,940 ufd fiea
171. Sec. 14 of Essential Commodities Act, 171.  STaweh 9% A9HEH, 1955 FI 9/ 14
1955 related with g
(A) Burden of proof (A) e[d T YR
(B) Repeals and savings (B) e qon smafat
(C) Prosecution of Public servant (C) ek Tdeh o1 SIS
(D) Protection of action (D) wrRfaTeE! o fore afemr
TF & o feru T
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172.

173.

174.

Every such notification issued after
the commencement of the Essential
Commodities (Amendment) Act,
1971 (66 of 1971) shall unless sooner
rescinded, cease to operate at the
expiration of how many years after the
publication of such notification in the
official Gazette ?

(A) One year
(B)
(€)
(D)

Two years
Three years

Four years

Under the Essential Commodities Act,
1955 power to try summarily is

(A) Sec.12

(B) Sec.12-A

(C) Sec.12-B Q
(D) Sec. 13 0\O

The Section o@umption as to

orders” under the Essential Commodities
Act, 1955 is

@0

172.

1

*

02223/GE — GJ/RCE - M

v g (TR SAffem, 1971 (1971
1 66) o TRH % I e TS gt U
SRR STel ok 98 TRl & forafued = s &l
ST | TST9 H 36 STTRIEHT oh TR o T,
Tohc o o ST W e 7 @ S ?

(A) THaN
(B) =y
(C)

(D

STIIH J&q AfI=m, 1955 § F&vua:
Toram <t wifea 2

(A) 912

(B)
(C)
(D)

g 12
qu 1249
g 13

174.  STavash 9% Afaf=m, 1955 ““T1asti o

R H Iuyroen’’ s 9 @

(A) Sec. 12 (A) gri2

(B) Sec. 13 (B) &mm13

(C) Sec. 14 (C) g 14

(D) Sec. 15 (D) &1 15
% & & fU T

Space for Rough Work

-48-

Set-A



02223/GE — GJ/RCE - M

175. UnderSec. 10-C Essential Commodities | 175. 3Taeeh a&q Aff=M, 1955 il 9”1 10-C
Act, 1955 “Presumption of culpable o TG - Tuteres 74 feufa S sgamon’’
mental state” includes F FT=qia e &

(A) Intention (A) IR

(B) Motive (B) ®eda

(C) Knowledge of a fact and the (C) a1 &Y IHHRI U fovamd i &1
belief in FHIT

(D) All of the above (D) 3Iured |t

176. Till which date paddy is purchased on | 176. 9§ 2021-22 ¥ forg fafer e am 6t @l
MSP by this State in the year 2021-22 ? A T 39 TS o6 ST ohl AT 7
(A) 15" December (AQ ED
(B) 31st December )& oo 9
(C) 7™ February 0\ 7 B ah
(D) 31stJanuary Q (D) 31 SHa{

177. From which year rice festival is st 177. @ UST ¥ fohm ad & grdstfes forawor gomedt
under PDS in this State ? o =T AT Icdd IR feran T @ 7
(A) January 2008 Q (A) SHat 2008
(B) February 2008 ’\O (B) wat 2008
(C) March 2008 @ (C) ¥ 2008
(D) April 2008 \Q (D) =7« 2008

178. Fromwhich month“Call Centre”isstarted | 178. 39 TS H GTasii<eh ferawor yurreft § uRafstar
to increase transparency and people g 54 9rfier) sig@ i det’ form AT
participation in PDS in this State ? U g R s w@I R ?

(A) January 2008 (B) February 2008 (A) S 2008 (B) el 2008
(C) March 2008 (D) April 2008 (C) w2008 (D) 319w 2008
T & o foTg T
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179.

180.

181.

182.

183.

From which year ‘Computerization’ in
PDS is started in this State ?

(A) 2007 (B) 2009
(C) 2011 (D) 2013

From which month ration materials
are allocated to fair price shops by
Directorate of Food through computer
in this State ?

02223/GE — GJ/RCE - M

179. 38 TSI H HrasT(eh foraTor Jorreft

FrepedeRTT ford ¥ | TR TR T @ 7
(A) 2007 (B) 2009
(C) 2011 (D) 2013

180. 39 TSY ¥ P o HIEAH § 3d Hod
SRMI ol G HATAHTET o SR @ forawor
1 A ford A8 @ foRm ST @1 & ?

(A) January 2008 (A) SRl 2008
(B) April 2008 (B) 08
(C) January 2009 (C) mog
(D) April 2009 2009
O

Under the Consumer Protection Act \‘ﬂ‘lﬂw TequT At & ded St s
Office of the District Forum shall be FT FHETT B
(A) District Headquarter (A) e gearer
(B) State Headquarter é (B) ST &A™
(C) Above (A) and (B bot (C) 3w (A) U (B) g
(D) None of the abovq (D) U | ¥ IS A
Consumer Protect o%ndment) 182. 3IuwiedT & (Geme) fefam urfa
Act was enact IERIRIEH

2000 2002 (A) 2000 (B) 2002

2004 2006 (C) 2004 (D) 2006

Under Consumer Protection Act, 1986
the Section related with “Service of
notice etc.”

(A) Sec.27A (B) Sec.28

(C) Sec.28A (D) Sec. 29

183. IuwiedT TR&guT AT, 1986 | {1
3o st arfielt’” & Gefera aw R

(A) aT127%  (B) 128
(C) am128% (D) ©wi29

TF whE o foTu T
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184. The cost of fine in the frivolous or 184. =Y 1 97 L Il GRETEl § &4 i s
vexations complaints shall 2
(A) Rs. 5,000/- (A) %. 5,000/

(B) Rs. 10,000/- (B) ®.10,000/-
(C) Rs. 20,000/- (C) =.20,000/-
(D) Rs. 50,000/- (D) %. 50,000/-

185. District Forum, State Commission or | 185. STl &R, TST AT 7 TSR STRINT ST
the National Commission may order = Wﬁ%@mﬁwﬁﬁaﬁ AT
not complying with such order to be
(A) Property of the person to be (A) @Hﬁﬁmaﬁw

attached
(B) The property attached may be sold ?ﬁ TS T ST s ST Hh
(C) Above (A) and (B) both ¢ 3T (A) Td (B) gF
(D) Fine Q\(D) NGl

186. How many types of families are gi <>186. T ArsTfeh ferawor Jorreft o s1=aia foaa
foodgrains under PDS in the St TR % TER] shl @ e Sar e ?
(A) 3 (B) 4 \Q (A) 3 (B) 4
(C) 5 (D) & 0 (C) 5 (D) 6

187. Which institution de s§ Minimum | 187. @IF— S%e St 3USi 1 =7 reH 4o
Support Prices icOkural produces ? I et § 7
(A) Commission f8r Agricultural costs A) ﬁm‘la‘k_“’? T

and produces
(B) Cabinet committee of economic (B) VT TR o ATIYeh HIH shl hisTe
issues of Govt. of India atufd
(C) Ministry of Agriculture, Govt. of (C) 9INd TThR o HN AT
India
(D) State Governments (D) T TR
T & o foTg T
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188.  Which agricultural crops are purchased at 188. BWIHITE TR o EHT =HaH THIH Hod T
MSP by the Chhattisgarh Government ? W%ﬁwﬁmwmw% ?
. Paddy ic
Il. Maize [l. HefehT
lll. Ragi . T
IV. Wheat V. T
(A) | (A) |
(B) land Il (B) I3l
(C) I, 1land Ill (C) I, 113
(D) 1,11, Il and IV (D) 1, Il A 3 IV
189. Which food item has negative trend | 189. foraoT yuTTet o St=arid 39 U= |
in purchase under PDS in this State 97 Y 2020-21 deh for @rer yared
during 2018-19 to 2020-21 ? . @gﬂmﬂﬁwg@%% ?
(A) Rice \YA) IE
(B) Sugar 0 (B) SRR
(C) Salt * (©) T
(D) Chana 6 (D) =
190. Which cereals has ma @l Pper | 190. a9 2021-22 % forg 3T o1 =[7aw qweH
quintal in the year 20& oI Tedl 3fereh © 7
(A) Paddy (A) g= (B) s
(C) Maize Ragl (C) Herhl (D) Tt
191. Under Consumer Protection Act, | 191. 3uwidrar T&fur 3fearfam & 3Tl Taieh
internal grievance redressal mechanism TSR famer yorredft § sfeer @
includes
(A) Call centres (A) HA A
(B) Helplines (B) ®euelrs
(C) Nodal Officers (C) reat fersrrt
(D) All of the above (D) 3uTrera @t
TF whE o foTu T
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192. The National Food Security Act shallbe | 192. T @ gean stfafm ERCEl
deemed to have come into force on the AT YHHAT ST |
(A) 15" August 2013 (A) 15 3WT&d 2013
(B) 5t July 2013 (B) 53IaTE 2013
(C) 24" June 2013 (C) 24772013
(D) 20t December 2013 (D) 20fg@sr 2013
193. The National Food Security Act, 2013 | 193. T @ e Afef=w, 20134
consists schedules. gET 2 |
(A) Five (B) Four (A) duf= (B) =X
(C) Three (D) Two (C) o= (D) =
194. Schedule 2 of National Food Security | 194. &1 AT, 2013 3l ST 2
Act, 2013 related with
(A) Nutritional standards
(B) Subsidised prices eI shiAd
(C) Provisions for food security 0 (C CIE RS CEI| 39SY
(D) Allocation of food grains * (D) W T 3Tele
195. The State Food Commissi %I 195. TSI @I 3TN T TS T
constitute by
(A) Central Governm (A) 5 GThT
(B) Local Bodies a\ (B) T sk
(C) State Gov (C) TSTHERI
(D) None of thé& (D) 3IWiad U U whis =l
196. The National Commission shall have 196. TS TR |t U= TR W ISmEfeh
administrative control over all the State o @
Commissions
(A) Pendency of cases (A) TR & SAferd 819 W
(B) Issuance of instructions regarding (B) FAaTS o waeg H fAdwr S e
hearing
(C) Generally overseeing (C) TmT=a: Fdeqor
(D) All of the above (D) 3ured |t
T & o foTg T
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197. Under Consumer Protection Act, 197. 3uMTedT T&TVT STferfem 4 e s, T~
National Gommission shall not admi ST eI T ST 13 T T 8
a complainant unless it is filed within % ___ Oveq iae T T A |
from the date on which the
cause of action has arisen.
(A) One year (A) TH T
(B) Two years (B) = ad
(C) Three years (C) i ad
(D) Four years (D) =Wy
198. The National Commission shall 198. T T T
function at
(A) New Delhi (A =
(B) Mumbai )
(C) Kolkata ‘\ ATl
(D) Al of the above (D) 3uTrera @t
199. The salary, honorarium and other @99. TSR AN o GE&l o dad, AT al
allowances of the members of 31 i fafgd fore smdn
the Na_tional Commission s@
prescribed by the
(A) Central Govt. O (A) FHE TR g
(B) President \ (B) Tregufe g
(C) Supreme C @ (C) 3=udH I I g1
(D) Lok Sabh& (D) AHTAAT g
200. The jurisdiction of the National 200. TSI AT st AferapTiear grft
Commission shall have
(A) Rs. One crore (A) 1 TT
(B) Rs. Ten lakh (B) 10 <T@ ®4q,
(C) Rs. 50 lakh (C) 50 T F9T
(D) Rs. 10 crore (D) 10 s &Y
TF whE o foTu T
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SET- A

I 3fHRd HE HTIHT ; 3¢ Sfremaw a3 : 200

Time for marking answers : 3 Hours Maximum Marks : 200 ||:

qe

1. 38 U9 Yfeaent 4 e amn e -
1. |mET 7 (150 37h)
(i) Tford, foqm, wRd sfaem, e, YRARE sTderee, YRAE 9faa™ Td US98 graied ame

SRR |
(i) IdE™ =t TEEm e T |
2. 37 (50 7) @
STEwIh a%g ATIFEH 1955, Iuwia wiegur =y 2 TTa g AtEE 2013 @
TeTETTe @ Ud el gRed sifafEm 2012 ¥ gete, ) TR @R U - SeiEg o
THH Wl T 4 /=Tae 1 3UTSH Ud ATdsii-eh foator Fraia foawor, SdteTe ¥ @ e iR

ey fieivy, sxdiee #§ fidud & Adqid 9 Wmaﬁwﬁawwaﬂmﬂmaﬂl
Tedeh T3 1 376 &1 & | At I3 S rfamd ©

2. Il % I & TS OMR 3W-3fie (3rawsiie) |

3. TeTd I ifehd A W 14 37eh w1 AT

4. Tordl oft TEE o hAgeiet A1 AM o T T YA AN |

5. OMR 3W-3fie (STTEweie) UH} 13 a7 R /ad g T8 we S a1 39 e

mﬁwaﬁqgaﬁﬁu%gm@ e B S |

Note : %\
1. This Question Bookle sists of Parts namely :-
1. General Kno (150 Marks)
(i) Mathematics, Science, Indian History, Geography, Indian Economy, Indian Constitution
and General Knowledge of State.
(iiy Current Affairs.
2. Other (50 Marks) :
Essential Commodity Act 1955, Consumer Protection Act 2019, National Food Security Act
2013 and Chhattisgarh Food and Nutrition Security Act 2012 related Knowledge, decentralized
food procurement — rice procurement on support price in Chhattisgarh and distribution under
public distribution system and Chhattisgarh Food Security and Sovereign PDS, PDS driven
different plans in Chhattisgarh and General Knowledge of Computer.

Each question carries 1 mark. All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

Y2 mark will be deducted for each wrong answer.

Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.
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